TAM SAM SOM

> TatabAxdpecableydarket Mecal]

How big is the largest market?

» Sérvicadide NdillableMarketecsL
What kind of portion of the market fits you?

> Setdiéaile DKty shHle Markes L

What portion of the market are you able to reach?

> EalywangrlistscaL,

What are your most potential customers?




PacuyeT pnHaHCOBbIX NoKa3aTesien No HUXKHEWN rpaHunLe, T.K.
YUUTbIBAETCH TONbKO cermMeHT Poccunckon denepaunn ;

TAM - 450 000* 990= 346 500 000 pyb/mec
SAM - B2B B2G

115 000399 = 59 850 000

SAM B2C

250 000699 = 174 750 000

SAM obwmn = 234 600 000 pyb/mec

SOM 234 600 000 * 0,1 = 23 460 000 py6/mec

Bce NCMOJ1Ib3YKOLWNECH B pacCHeTax nokKadartesin OTpa>KeHbl B 3adBKe N UMEIKOT NnoarBep>KaeHnmd ncxogsd mn3 I/ICCJ'IG,EI,OB&HVII?], NMPUNO>XEHHbLIX K 3adBKe



